j P, Calculus AB___ Chapter 7.7 a & Volume Unit Review WS

1) Given the region below enclosed by f(x) =Nx=2 ,9(x)=5-x, and the x-axis.

n) Find the area of the below region, (Write the integral notation(s) as well as the numeric approximation
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b) Find the Volume of solid generated when the enclosed region is revolved about the line x = 1 (Write
. G:%e integral notation as well as the numeric approximation rounded to 3 decimal places)
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¢) :l’he enclosed region is the base of a solid, The cross section of the solid taken perpendicular to the y-
axis is an equilateral triangle, Find the volume of the given solid. (Write the integral notation as well as

| the numeric approximation rounded to 3 decimal places) Yo
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2) Given the region below enclosed by f(x) = In (4~ ~ %) ,theliney=1, and the y-axis.

it
a) Find the Volume of solid generated when the enclosed region is revolved about the line y = 1 (Write
the integral notation as well as the numeric approximation rounded to 3 decimal places)
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b) Find the Volume of solid generated when the enclosed region is revolved about the line y = 2 (Write
the integral notation as well as the numeric approximation rounded to 3 decimal places)
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¢) The enclosed region is the base of a solid. The cross section of the solid taken perpendicular to the x-
axis is a rectangle whose height is twice the base. Find the volume of the given solid. (Write the integral
notation as well as the numeric approximation rounded to 3 decimal places B
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¢) Find the volume of the solld generated when S Is revolved about the horlzontal line ymwld,
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d) The enclosed region R is the base of a solid. The cross section of the solid taken parallel to thé y«ggg
is a J508CEl es st AtanE et les Ot basEl Find the volume of the given solid, (Write the integral
notation as well as the numerio approx1mat10n founded to 3 decimal places)
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2) Given the region below enclosed by .f(x) = In(4 — %) , the line x= -1, and the x-axis. \[ Wi |

) 2) Find the Volume of solid generated when the enclosed region is revolved about the line x = -1 (Write
_{  g ! Jal the ‘éntegral notation as well as the numeric approximation rounded to 3 decimal places)
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b) Find the Volume of solid generated when the enclosed region is revolved aboutThe line x =4 (Write
the mtegral notation as well as the numeric appr oximation 1oundcd to 3 dammal places)
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¢} The enclosed region is the base of # solid, The ctoss seotion of the solid taken parallel to the XAXIS 18
wprectangleiwhoseheightisda Find the volume of the given solid, (Write the integral notation as well as
the numeric apprommauon rounded to 3 decimal places)
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Ch. 7 Area/Volume AB FRQ Problems Worksheet #-3

()

1)

Let R be the rglon bounded by the graph of 3 = - g2 and the
Trawizontal ling ¥ = 2, and lef § bethe region boundsd by the praph of

imx

3 andl the horizontal fings y =1 and ¥ = 2, u8 shown above,

ey Find the ares of R,
i) Find the arca of 5.
{e) Wirite, but do not evaluate, an infegral expression fhat gives the

volime of the solid genergted when R is motated ahioat the
horizontst ling j =1,
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(b} The oake isn solid with base &, Cross seotfons of the ol pﬂpmmm}m b the iy ave
semmicireles, 1 the baker uses .05 prom of unsweetaned chooolute for sadh oubic ﬂmtlmﬂmr nf gk,

abowe. The derivative of Fis 1) = wmus{

- how many grams of waswestosed chovolate will be du the cake? ,;Zo M >
§
4 Yo 47 T Hven = Awm /7 réw unJew ( 2 éo'HpW\) j
: 7y 8 O)C (Mm pla

3

:—.3@@) ~ Qc)s'ﬂ( ) OﬂeK

=§od — 3?/(7702 = /ogfﬁdgfcm]

e A/ TX 3
‘)Ase-ﬁﬂsmé—;; -0 _

-

T A ¥l |V a5t e

‘3:@5// - Hﬁﬁ’zos’“(a]

0. ogimm,s 02355 ;?4—/

5

|70 T yams
(F Hocolate,

o lne> { Ty o /] (),
fusem Bosb() Voo | Efansn ) dc

am
Tt

e e eim

O



( Nomc«ﬂéﬁ&ﬁ*) |
) o

Lt & b the vegion in the fist quadrant bounded by the graph of ¥ = Mm the horizontal Yine ¥ = §, and fhe
y-axis, ax shown in the figure above, .
{2) Find the area of R,

iy Weite, but do not evaluats, s integral expression that gives the volume of the mhd generatid wheﬂ R i
sotated shout the borizontal bine p = T
) Region R i the bass of a solid, Foy aach », whers 01Ky £ 6, the cvoss section of the solid taken

gﬂrpmmxmﬂar tor the yaxis iz a remtmmg]e Whose hmght i 3 timew the lengﬂm wf its base dn vegion R, Weite,
v ddo st ovalmato, an integral ﬁxpms&mm that gives fhe valume of ﬂw solid.
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Lot B be fhe shoded h,'\g;ﬁm toumded by the graph of p = xe® | the ling = D, |
A the verticond lne x = 1, pgshowm in the Gpre above, | ( \)
() Fimd the aven of £,

fly Write, bt dor mupt ewailuat, interal expression et ghves the wolume of the
sodid Emmmﬁ when & iy mmmﬁ atont thee hesimontal Uine p= -2,

Wf

“,ju!f/';ﬁ%\‘ﬁ'\ !
R RS Y A o N N B

o

“:‘xl JXe afu)&g

wisher et
' ‘TD‘o / éA'H'DM

P




~ ABCalculus  Chapter 7.1-7.2 Review Worksheet #4

1. (Non-Calculator)

O

y=x, as shown in the figure sbove,

(o) Findthemeaof B~ - .
(by Theregion R is the base of o solid. For this sofid, sf each x theotoss | %

seation pespendioulas to the x-oids hus atea A(x) = xin.{%m}, Find the

: . P
Lot R be the region in the tirst quadrant enclosed by the graphs of » = 2x and

4t ma 'M

. ),
yoluma of the solid. =
{0) Another solid has the same hage K. For this solid, the oross sections ' R
parpendionlar to the yaxis are squares, Write, but donot evaluate, an. * B

intepral expression fo of the solid.
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{:, . 2) (Non-Calculator)

Lt f(x) = 20% v + 4 and glx) = Ams(-}fm} Let R bethesegion
" bounded by the prayihs of £ snd- g, 83 shown in fhe figure above.
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(2) Pindihs arenof R,

(%) Wite, ttdo npt evntyate, an infegral expression that gives the
o of fhe solid gmemtﬁd when R is matgted about ﬂm
hm*mntai ling p = 4, 71 B

(&) The region B isthe base of o solid, For this solid, each aroye sention pamendwmar o the s !s s,
Write, but do’ not svatugte, an tntegral ehpresslmi that gives the volume gt the olid. :
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1) Given the region below enclosed by f(x) = In(x ~ 3) , the line y = 7 ~ ~x and thex waxlg, T —
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2) Given the region below enclosed by £(x) = In(x + 6) , theline y = —3, and ¥ =

a) Find the Volume of solid generated when the enclosed region is revolved about the line y =4
(Write the integral notation as well as the numeric approximation rounded to 3 decitmal pl %aces)

e~ J{”Wﬂgm Methopd L Top- Bottom

N ey

T Rkl () )
‘ ‘ Kus r()() mkm;. ”“”“( l-f) e

ﬁ%w T Wﬁu) f&)w '

g Ver f WXMM I]J’x = 330 Sion ||
“5.95 L s t

Mobhgenie *

b) Find the Volume of solid generated when the enclosed region is revolved about the line x = 5 (Write
the integral notation as well as the ny meric approximation rounded to 3 decimal places)
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3) Glven the region below enclosed by f(x) = Vx+6 ,the g(x) =e*+1

&) Find the Volume of solid generated when the encloged region is revolved about the line X =6 (erte
the integral notation as well as the numeric approximation rounded to 3 deum'xl places) :
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b) The enclosed region is the bage of a sohd The cross section of the solid take | parallel to the y-axis Is
a isosoeles right triangle with hmg}gggwe on base: Find the volume of the gwm solid. (Write the integral
notation as Well as the numerie approx1mat1on rounded to 3 decimal plages) p X. 'g;:}
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4) Given the region below enclosed by f(x) = —x* + 4 and g(x) = - f‘ix +2 #0 2 oyn 7 /

)

Find the mlume of solid generated when the enclosed region is reyolyed about the line y =4 (Wr1tc the
/fwﬂ integral notation as well a$ the numeric approximation rounded {0 3 decimal places),
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AP. Calculus AB

Chapter 7.-7.2 Area & Volume Unit Review WS #2

graphs of fand g shown

a) Find the area of S ﬁm :

»(»f;gr Sin (@))J X =L

¢) Find the volume of the solid generated when $ is revolved about the horizontal line y =,

L)

d) The enclosed region R is the base of a solid. The cross section of the solid taken parallel to the yeaxis

is a jiSoscelesaphivtiiatg

i m

gleiwith legotrbasel Find the volume of the given solid. (Write the integral
notation as well as the numeric approximation rounded to 3 decimal places)
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2) Given the region below enclosed by f(x) = In(4 — x) , the line x= -1, and the x-axis. é Yrm

) Find the Volume of solid generated when the enclosed region is revolved about the line x = -1 (Wme
ntegwl notation as well as the numeric approxmatmn rounded to 3 demmal places)
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b) Find the Volume of solid generated when the enclosed region is revolved about the line x =4 (Write
the mtegml notation as well as the numeric approximation rounded to 3 decimal places)
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¢) The enclosed region is the base of a solid. The cross section of the solid taken parallel to the X-aXis 18
@ rectangle whose height is-4s Find the volume of the given solid. (Write the integral notation as well as
the numeric approximation rounded to 3 decimal places)
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